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Vaccinating meaningfully s#i®n#s2&5ic007 &8%93

Exploratory assignments part B

You will see three graphic representations of situations in a group of a hundred people, two of whom have the flu. These
have been indicated with ‘Z’. Vaccinated people - who are therefore immune - have been indicated with ‘I’. The remaining
people (empty squares) are susceptible. We assume that everybody comes into direct contact with his or her ‘direct
neighbours’ every day, so a maximum of four people per day.

Assignment 3

Research for every representation after how many days all people will be sick - in so far as they can get sick.
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Final assignment Part |

There are respectively 1000, 2000 and 4000 pupils in three secondary schools in Amberhavn. The board of these three
schools wants to give the pupils optimal protection against the flu. However, only a limited number of vaccines is available
for the schools: 3000 in total. The board wonders how to best allocate the vaccines between the schools to have as few
pupils as possible catch the flu.

This question is put to you, in your role as advisory committee. Research what the effects are of different allocations, and
provide a well-founded advice based on this research.

You can assume that within every school all the pupils come into contact with each other, but that there is no or negligible
contact between pupils from different schools.
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